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1. Determine Vi, /., I. and 7r for the following circuit if £=280Q. (20%)
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2. Determine a, B and J for the transistor in the following circuit if Jg=1.0V and J&=1.7V. (20%)
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3. Assume each transistor in figure has 5=80 and r-=100€2. Find
(1) the voltage gain of the amplifier
(2) the input resistance of the amplifier(20%)

4. The two transistor amplifiers shown in the following figure combine an FET and a BJT
to achieve both a high input impedance and a large voltage gain. Determine the voltage
gain vo/vi of the amplifier by considering ¢ with g=1ms, r-=1kQ and A£=120. (20%)

5. Calculate v (biased DC value) in the bipolar differential amplifier circuit shown in
the following figure. (20%)




